( PRE SECONDARY SCHOLARSHIP EXAMINATION (Std. 8th), FEBRUARY 2019
Seat No.
0711 *
Paper No. 1 Medium : Telugu Time : 1:00pm to 2:30pm

kPageS : 32 First Language and Mathematics Total Marks : 15&

Read the following instructions carefully before you answer the questions.

(1)  This question paper contains two sections. In Section I there are 1 to 25 questions of First Language and
in Section I there are 26 to 75 questions of Mathematics. All 75 questions are compulsory.

(2) All questions carry 2 marks each.

(3)  Time limit to solve the question paper is 90 minutes.

(4) Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record you answer as follows :
Question No. 6 0l IOl

(5) Answerrecorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.
Example : (N @ @ &

(6) While recording the correct option in the answer sheet, use only black or blue ball pen. Otherwise it
will be credited as ‘Zero’ mark.

(7)  Answer once recorded cannot be changed.

(8)  Maximum 20% questions are having two correct alternatives. Candidate hs to darken both the circles with
correct answers. These questions will have the instruction ‘Select two correct alternatives.’

(9) Any kind of answers recorded in more than one circle will not be considered except for those
questions having instruction ‘Select two correct alternatives.’

(10) Therough work is to be done in the box given under each page or on the last page of the question paper.

(11) The exam has limited time, in case you are not able to solve a question, kindly solve the next question. In
the end if time permits you can try to solve the unsolved questions.

(12) Ifyoufind any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

(13) Forany error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

(14) The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

(15) Questions can be cancelled due to printing mistake or any other reason, on the basis of the
suggestions given by the Committee of Experts.

(16) - Along with the question paper of the respective medium, the English version of question paper is also

provided. In case of doubt please refer to the English version of the same question.
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0711 -A 20f32 P.T.O.




3. 358 ofjwrchin Mo dsrd Hk dod?

(1) 8 &8 SP0N0ST°YH (2) 8 2r&e THREYTTY
(3) § Hono derTrsady (4) A0.E. SN0 TY

@8) 45008 65 JrES: od Sogrle ST WA 8o REI R 0F JOGD STV

80 DTURNR Fovogs BnE) ETA) SolidoNak.

(Hr5® oIS’ K, Fo TE) DG G IHTIS @) TN 08 BB JIS BHHIT 6.)

|0 :
o0

TR

o

Q)

|09 !

a‘;él :

9

s";él :

4. "R Jogr

T dDB! ©... ©oHS ) FIry FOD Ty D FRT)H?

5 FITY FE oo $P I o?

FON T8 ©NITFIOM Go8 IHO FHrY VoI S VoRSEN®.

B B0 NIPH0 Sod?

OBTEEEF0H S8 (P0G DTN DT BRI TITIA S B .
(R0 HTTO0H JNG? |
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Space for Rough Work
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(2) S0
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(1) 85% dorgen
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(4) & ¢
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(1) 258
(3) S

(2) Bok
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(1) T8 $g0 Sob (6:8)
(3) CHBGE)TES HBSTE

(2) DigsR% B89 (3:9)
(4) 259 508 DT (k)
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12.

13.

14.

800 (HE)E-DE)H0 edod S0 v hyowok.

(1) egddo0 - ) ddo (2) W0 - YRG0
(3) Q&g - Desgen (4) FEI00 - BTSN

80 H8TE Horw wsed’ L0@S wdud hyoKok.
(1) @HE50 X GO0 (2) 2o%é X S*Ho
(3) wobrT X Beo (4) 08O X 89

‘ELrEI0)0i SN EGINe’ - AT ®0oTTR) HYowok.
(1) SssoPo50 (2) ererdodnsm
(3) SoEsSEHOD (4) ORSESM

800 T8 g SN HyoNes.

(1) &% oads, S0zad e P Jrdew 80)owd.

(2) ST IOBVFEL IF.

(3) Py H{0 DI PRV, D0y YBIOK Jho.

(4) BB o0’ AT Blrerdy, ANGSNO HoFIOBI.

800 TBS JEGE TEgno HowE.

(1) $0@ BRI STHO8 HOWE.

(2) 0@ HOBO0D Lorardd.

(3) DEGHH wosdoswr JOWC.

(4) oYms Deorasy’ Beory FTHBER PrEoomid.

Space for Rough Work
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Fi8er AW BEYTD | FPERroT 6.
(1) Sosrmgessssn (2) So5rSaresEsn
(3) T esssM (4) d&S* & 5%
21. 8ok B $§ET00 TE o hokod.
(1) 28 5O §90 8t HHFed P tBo0LT 5.
(2) FosrsTerd £Ho SNod.
(3) 2rSogcho ErENS SO,
(4) oTermrd Do Jroo Foetosr.
22. 8ob TBY Herdod HEIND KoKk,
(1) Sodoioes (2) TErechsn
(3) Trdcsess (4) JSBEIrHzEd0
23. 8ob g0’ HShdY HEhsw ) VPEE TBoddd hhoKas.
FeBo@y Sn8o W0 EENK EGSey Barde.
(1) & D8 (2) $ybose Dusk
(3) agdos 258 (4) %59 D58
24, DIFPIH ERT T 507
(1) o5& B85 (2) Srgeo
(3) &8 (4) &8~ 8008
25. o D ATOoTH 3. Hyo PRI & DHHE $8) 00mH?
(1) e85 (2) 8dpdry
(3) ST EI°g (4) G205 DoGowo
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~ection 11
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gy, $GS0 EODIE 32 Bows B0k, ST HisyH?

(1) 2 (2) 3
(3) 4 4) 6
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(1) 1:2 (2) 2:3
(3) 3:2 4) 2:5

28 Wo.. Ty o oo Q) JE Sodn Lok 14 0., TFEe Ho Fv¥o
BoE), SFSoNe N Jod?

(1) 2:1 ) 4:3
(3) 3:4 4) 1:2
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27.

28.

Section 11

Whose perfect square should be added to the sum of the greatest three digit prime
number and the smallest two digit prime number so that the resultant number is

perfect square of 32.
(1) 2 2) 3
(3) 4 (4) 6

If a transversal intersects two parallel lines then find the ratio of the number of pairs

of alternate angles to the number of pairs of corresponding angles so formed
(1) 1:2 (2) 2:3
(3) 3:2 (4) 2:5

Find the ratio of the total surface area of the hemisphere with diameter 28 cm to

surface area of a sphere having radius 14 cm.

(1) 2:1 (2) 4:3
(3) 3:4 (4) 1:2
Space for Rough Work
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@dd 3 DOJET TES S dDoE ) NIT &, 7,29,000 05 FI%. T SbHEe Tew
28 Jo3&TA8 10 TS IH)oRoNIT WIS @ Ko@) oK FIN?

(1) 9,00,000 & (2) 10,00,000 &
(3) 8,00,000 & (4) 12,00,000 &
30. 20+ 1) (@ —1) 2dvdE0 oS0 R, PrEo Dos?
() 1 (2) 3
(3) 5 4) 6
31, a¥ Jompg Hon R Wweadd DS'R QopLY VPN Fr&E St Sopg Dod?
(1) 1 (2) ~1
(3) 0 (4) -2
32. a¥ Bodn Qg Pod Il Sorss Fosn Fods %Béag Bk, wond & Foln Gw)
o8 Feoddw Fod Dos?
(1) 36° (2) 45°
(3) 54¢° (4) 60°
Space for Rough Work
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29,

30.

31.

32.

Sunil bought a 3 year old machine from Anil at a price of Rs. 7,29,000. Its value
decreases by 10 p.c.p.a. What was the price of the machine when Anil bought it ?

(1) Rs. 9,00,000 (2) Rs. 10,00,000

(3) Rs. 8,00,000 (4) Rs. 12,00,000

Write the degree of the product of the binomials. (2x* + 1) (x* —1)

(1) 1 (2) 3

(3) 5 (4) 6

Find the additive inverse of the product of a number and its multiplicative inverse.
(1) 1 (2) -1

(3) 0 (4) -2

1
The measure of a given angle is 1 times that of its supplementary angle. Find the

measure of its complementary angle.

(1) 36° (2) 450
(3) 540 (4) 600
Space for Rough Work
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@08 g0’ 2000 Srrche FH% D) V0VTE o) Jéy 1000 HOwE® 200 SrErcho
Féy QoHTW. ergod’ IS Ingo I 16000 8>, wondd wsd IS Ingo JF&
QDopg Hod?

(1) 5 ) 15
(3) 18 (4) 21
34. D& Jo& T8 8 wdo Déo TIPS 48,000 &, @i 1% L0IEVT 0L o8 HEIG
@HD?
(1) 4475 & (2) 4265 &,
(3) 4274 & (4) 5914 &».
35. 8ob B x4 x -~ T2 Bog), JIrPO PERTRL D?
(1) x-8)(x+9) (2) x+9)(x+8)
(3) x—8) (x-9) 4) (x=9) (x+38)
7 11 2 12
36. 520’ 5 5% & ©ESBH Sopcod' N8O WY bopg wOUBN N8O DY) Yopge
BEo Dos?
y = 2) =
(1) 20 (2) 10
10 20
(3) 3 4) 3
Space for Rough Work
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The number of notes of Rs. 2000 deposited in the bank by Amir is equal to the total
number of notes of Rs. 1000 and Rs. 200 deposited in the bank. The total amount
deposited in the bank was Rs. 16000. Find the total number of notes deposited in the

34.

3s.

bank.

(1) 5 (2) 15

(3) 18 (4) 21

Find the compound interest for Rs. 48,000 for 1% years at the rate of 8 p.c.p.a.
(1) Rs. 4475 (2) Rs. 4265

(3) Rs. 4274 (4) Rs. 5914

Which of the following are the factors of the polynomial x? + x — 72.
(1) x—8)(x+9)
(3) x—-8) (x-9)

2) x+9)(x+8)

(4) x—9)(x+38)

36. Find the difference between the greatest and the smallest rational numbers given

below.

71212

15°20° 57 25

1 2 2 S

(1 5, @) 1

L 10 o 20

(3) 3 )

Space for Rough Work
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37. HBOTSENS 2 ok 15 50T w0 ©onShowE Jsnare re O Kok Kooy

38.

39.

40.

H6g 20) Sfie Fodw dywc?

0 1
(1) 30 (2) 227
1° 1°
(3) 827 (4) 525

452 . %H 0050 322 M. S0y o &c?»zﬁéaé@"g“é@ & 0o 2ok 11 0. ke
Ho wrd I, WOoNS @ Pd ITOL0 IV BEEY WHEY woKke?

(1) 4972 (2) 3542

(3) 16544 (4) 15544

240 &g ro @umod’ 8% IN) @Erno ok, 160 O&g o Tonod’ 15% 3% Bdreno
o, @ Do heroi SLBT GBS DFHINS' IF) TS0 Jod wokd?

(1) 10.5 (2) 10.6

(3) 10.7 (4) 10.8

8od TBS 16x" - 81 B, Herdchdine &7 (B DS HTLEDZROD i) Fosw.)
(1) (4x + 9) (4x — 9) (2) (42 +9) (dx>— 9)

(3) (4x2+9) (2x +3) 2x — 3) (4) (2x -+ 37 (2x - 3)

Space for Rough Work
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37.

38.

39.

40.

Find the measure of the anlge between the hour hand and minute hand of a clock at 15
minutes past 2.

O 10
(1) 30 (2) 225~
1° 1°
(3) 825- (4) 525»

The length of a rectangular garden is 452 m and breadth is 322m. There is a 11m broad
road around this garden. Find the area of the road. in sq.m.

(1) 4972 (2) 3542

(3) 16544 (4) 15544

If 240 litre milk containing 8% fat is mixed with 160 litre milk containing 15% fat.
What will be the percentage of fat in the mixture.

(1) 10.5 (2) 10.6

(3) 10.7 (4) 10.8

Which of the following are the factors of 16x* — 81. [Select the correct alternatives]
(1) (4x+9) (4x-9) (2) (4x2 +9) (4x* - 9)

(3) (4x>+9) (2x +3) (2x — 3) (4) (2x+ 3% (2x - 3)

Space for Rough Work
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41.

42.

43.

44.

45.

32 = 6561 ©0nd m JNE), IS JOS?

(1) 2 2) 3

(3) 4 (4) 5

w8 $SEBo g, EIS0 25V2 0.0, @ond & HEEHIN B, STogo od?
(1) 625 5. 0.5, (2) 525 5. 20..

(3) 825 5. 0.50. (4) 725 <. 20.%%.

4400.0. EpFod Ko $SED Togsn, 44 0.0, H8G o HE TN S0l Jod
880 ST Sot?

(1) 33 . 20.5%. (2) 32 . 200.2%.

(3) 30 5. 20.. (4) 23 <5, 20.2%.

BTE $8S° 20 S0 NIKHE0 H @&géo@‘ 10 &30 $TR. wond errchod’ Jod Tso
DHHEL TE Sihdo wbhod?

(D) 8% SN (2) 8% dnH
(3) 7% &N (4) 7% 080
x+3 4x-2

1 = 9 ®ONIT ‘X’ Fo), DD J08?
(1) 5 (2) -3
(3) 3 “4) 9

Space for Rough Work
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41.

42.

43.

Find the value of m if 32Mm2 — 561

(1) 2 ) 3
(3) 4 4) 5

The diagonal of a square is 2542 cm. Find the area of the square.
(1) 625 cm? (2) 525 cm?
(3) 825 cm? (4) 725 cm?

How much less is the area of a square whose perimeter is 44 cm. than the area of a
circle whose circumference is 44 cm.

(1) 33 cm? (2) 32 cm?

(3) 30 cm? (4) 23 cm?

44. Due to 20% increase in the price of a ticket, the sale was decreased by 10%. Find by

how much percentage the income was increased or decreased ?

(1) 8% decrease (2) 8% increase

(3) 7% decrease (4) 7% increase

x+3 4x-2
45. = . Then find ‘x’.
4 9
(1) s 2) 3
(3)3 49
Space for Rough Work
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46.

47.

48.

5 00c® 0 (20)) & @0ToR dNFTS HRrnoN 117 grhcded Twiole Sopge
0B O WOB?

(1) 16060 (2) 21210
(3) 56760 (4) 27720

W 00y BEn TgRsw 1.4 . Hok. afEd © o) af H§H0 Dod BoFE HEo
FYLH @& ) BE 20,000 Héy BHHIQONE & W) WErBowd Erdo Dod?
(Bodks HTeHEHO™ I8 Tos0.)

(1) 88 8.2, (2) 4482,

(3) 88000 . (4) 44000 .

w8 SIS B0k VP TR0 14 D, I 2y 10 . wond @ 2>S V) d&E V6
D80 0?

(1) 154000 (2) 1540000
(3) 2540000 (4) 3540000
1
49. D8 JoI& T8 125 PEo Béw TIPS 15,000 8. 0300 ) H0I$)T0K Tok Téy
@7
(1) 6 Jom (2) 7 don
(3) 8o (4) 12 dou
50. 8o& &S 4a’ + 9b* + 25¢% — 12ab — 30bc + 20ac GnE), JHXrTO TIHTH DD?
(1) 2a+3b+5¢)(2a+3b+ 5¢) (2) Qa—-3b+5¢)(2a—-3b+ 5¢c)
(3) 2a+3b—5¢) (2a+3b—5c¢) (4) 2a—-3b-5¢c)(2a—3b-5c¢)
Space for Rough Work
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46.

47.

48.

49.

50.

Find the sum of all four digit numbers formed by using the digits 0, and 5, repeating
any number of times in the number.

(1) 16060 (2) 21210
(3) 56760 (4) 27720

A bus has wheels of diameter 1.4m. Travelling from one town to other, the wheels com-
plete 20,000 rotations. Find the distance covered by the bus. [Select two correct alter-
natives|

(1) 88km (2) 44 km
(3) 88000 m (4) 44000 m

How much water will a cylindrical tank contain if its height is 10 m and diameter is
14m.

(1) 154000 litres (2) 1540000 litres

(3) 2540000 litres (4) 3540000 litres.

1
In how many years will Rs. 15000 will be doubled at the rate of 12'2‘ p.c.p.a.?

(1) 6 years (2) 7 years
(3) 8years (4) 12 years
Which of the following are the factors of the polynomial.

4a% +9b* +25¢* —12ab — 30bc + 20ac

(1) 2a+3b+ 5¢c)(2a+3b+ 5¢) (2) 2a—3b+5¢)(2a—3b+ 5¢)
(3) 2a+3b—5¢c)(2a+3b-5c) (4) 2a—3b-5¢)(2a—3b-5¢)
Space for Rough Work
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51.

52.

53.

54.

BodkoTeo o Dok Sowgw RNk, Goror, 14 3500050 &.370.00. 490 0. e@ond e Do
QoL N0 Wos?

(1) 140 (2) 147
(3) 168 (4) 182

%8 TPoRD R, EGLnws 24 00.00. 0GR 32 0.00. BORS & Towd Rog), BodpPos
W0 ?

(1) 40 o.M, (2) 80 0.%%.
(3) 100 20.8%. (4) 120 2o..

28 HERTTY ey Kng), &Y 60 Vo.w., Iy 18 0.0, HodR & 15 0o,
o). @ 8N’ 6700.M0. doain Ko V) NTEC L HEpto?

(1) 55 (2) 60
(3) 65 4) 75

TR wE HEAPT) 6540 SrrchoH HOW» Tods HEWRrT Y 3460 Srrchoh I,
e Do HAKrood wdid 10,900 Srardhos @&)&2658 & HERHTFEN0W S8 Do
PHS0 oo TE Do TS0 SHo EOTN?

(1) 8= o orgso (2) 870 JIQ0
(3) Y=o Qo (4) 9 z$0 ergfo
55. hBowosw : (4a® + 6ab + 9b?) (2a — 3b)
(1) 8a° +275° (2) 274° - 8b°
(3) 274* - 8b* (4) 8a® —27p
Space for Rough Work
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51.

52.

53.

54.

55.

H.C.F of two digit two numbers is 14 and L.C.M. is 490. Find the sum of those two
numbers.

(1) 140 (2) 147
(3) 168 (4) 182

The diagonals of a rhombus are 24 cm and 32 cm. Find the perimeter of the rhombus.
(1) 40 cm (2) 80 cm

(3) 100 cm | (4) 120 cm

A cuboid box has length 60 cm breadth 18 cm and height 15 em. How many cabical
boxes having each side 6 cm. will be contained in the box.

(1) 55 (2) 60
(3) 65 4) 75

Vikas purchased a watch for Rs. 6540 and another one for Rs. 3460. Both the watches
were sold for Rs. 10,900. What was the profit percent or loss percent in this
transaction?

(1) 8% profit (2) 8% loss
(3) 9% loss (4) 9% profit
Multiply.

(4a* + 6ab + 9b*) (2a — 3b)

(1) 84° + 2753 (2) 27a° - 8b°
(3) 274> — 8b? (4) 84> —27h°
Space for Rough Work
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56.

57.

58.

59.

324389 = ~o&?
(1) 19 2) 29
(3) 39 4) 27

oo Qoodk %"goc“’s 26 233558 2016 Soo0d 21 83?63 2016 8% @3@5{92&’ &5&326{165 é)é;g
o0 AREFIRN. T §8 DLKK 47 Er. OB, WONH BIW TOTEH IJ) ErFche P
Dy BRYW?

(1) Rs.2632 &, (2) Rs. 3948 &
(3) Rs. 3878 &, (4) Rs. 3949 &
HRPEH0 $08 DO Fodn HO? TIQ 50w,

(1) mZACB (2) mZADB

(3) m £ CEB (4) m £ BFA

BIE 080 T D88 I o wiEEND 11% TS0 OBE D HEBBK. HTE 65,000
S, HZen BT 088 Jod 0BE 0Hoie?

(1) 6564 & 2) 7475 &,
(3) 8485 . (4) 6465 .
60. 25x?+49)? & J5rS0 Sord SPEn FEEIs ob P8 I HEIw Sodrd?
(Do 1TS JTEoRINOR I8 Todn.)
(1) 35 xp 2) ~70 xy
(3) 70 xy (4) =35 xy
Space for Rough Work
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56.

57.

58.

59.

324389 = How much
(1) 19 (2) 29
(3) 39 (4) 27

Shamrao purchased one and half litres milk everyday from 26th January 2016 to 21st
March, 2016 from Ramrao. The rate of milk was Rs. 47 per litre. Find the amount of
the bill that shamrao paid to Ramrao for the milk.

(1) Rs. 2632 (2) Rs. 3948
(3) Rs. 3878 (4) Rs. 3949

Observe the given figure and find the odd term.-

(1) mZACB (2) m ZADB

(3) m £ CEB (4) m £ BFA

Khadi Gramodyog mandal declared rebate of 11;-% on sale of cloth. A customer

purchased cloth worth Rs. 65000. Find the amount of rebate that the customer
will received.

(1) Rs. 6564 (2) Rs. 7475
(3) Rs. 8485 (4) Rs. 6465
60. Which term shoud be added to 25x? + 49y? so that the sum will be a perfect square.
(Choose two correct alternatives)
(1) 35 xy (2) =70 xy
(3) 70 xy (4) =35 xy
Space for Rough Work
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61.

62.

63.

64.

550005

65 _ 104 _ 56

77 99 45

(D1 2) 0

3)

L[

2
(4) P

wE ©F HFTE Fh g, DipFod 180 DhR. wand @ o &Y, BTV Jod?
(1) 3850 5.2 (2) 3350 ..
(3) 2250 .5, (4) 1925 5.5,

60 . &Py, 40 . 36@@03 08050 5. S e 5’0335@36 008 &I 53&23 18.2%. e N)
00050 24 ok, Ikey fo e IZO0NVST Dod Lodw o DETS Dégd@a:ﬁ:? (Do
QVR éb‘goﬁaéxe}é} 93263;15"263533.)

(1) 50 20.. (2) 50.3%.
(3) 0.5 2. 4) 1.5 .

o0 e Scodrends 3250 &, WIPS 13 8goéred) Feodoen Lodas» §Soé3°®a§3 4350 &
DIPS 23 800erel) FHrOSOD wl NS JBoo T K. ok TR 3 TS0
Té TIPS ENRT SREFIHN. @ONd TOTSEH AJ) ErPcHer 0HOBI?

(1) 1,38,031 & (2) 1,38,033 &».
(3) 1,38,181 & (4) 1,38,432 5.
Space for Rough Work
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61. Simplify

65 104 56

77 99 45

() 1 (2) 0

2 2
3 5 OF=

62. The perimeter of a semi-circular garden is 180 m. Find the area of the garden
(1) 3850 sq.m. (2) 3350 sq.m.
(3) 2250 sq.m. (4) 1925 sq.m.

63. A pit 60m long, 40 m wide and 5 m. deep was dug and the soil was spread evenly over a
road of length 1 km. and breadth 24 m. What was the thickness of the soil spread ?

(1) 50 cm (2) 5cm
(3) 0.5m 4) 1.5m

64. Ramrao sold 13 quintals wheat at Rs. 3250 per quintal and 23 quintals soyabean at
Rs.4350 per quintal through a commission agent 3% commission was paid. Find the
amount that Ramrao will receive:

(1) Rs. 1,38,031 (2) Rs.1,38,033
(3) Rs. 1,38,181 (4) Rs. 1,38,432
Space for Rough Work
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66.

67.

68.

2017 %2017 - 2015 % 2015

= 08?7 (Do JOES Voo HEoWok.)

4032
(1) 2017 % 2015 (2) 2
(3) 2017 x 2015 4) a4

X €y (X,y Bog) @0 RDiEES0S Hok) IPBS X =35 0005w y =14, wons 8o &S’
BEBem R, HWEL0 D&?

(1) 2x =15y (2) 2y =5x
(3) 2x+5y=0 (4) 2y—5x=0

w8 woafn B5Heind’ vowfno 80T herer 500.0. DO 12 0., oS e
©ghesdn o) DOHE TEPYo wod?

(1) 6.520.%. (2) 7.5 0.5,
(3) 8.5%0.%. (4) 5.5 %0.%%.

W N0 ), TGo SRTOL0 384 8. 0.0, Hok. @OND @ DI BN, WHNBETHO
wo&?

(1) 512 $0.20.2. (2) 343 $5.200.%.

(3) 0.512 $2.220.%%. (4) 0.343 $0.%%.

69. (AP -9x+T+*+5x-1)-(5x*—4dx+5) = Q08?
(Bodh DTS HTCRINOH o) Flokw.)
(1) 1 (2) x2+3x—2
(3) 22— 2x+5 (4) 20
Space for Rough Work
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65.

66.

67.

68.

2017 %2017 - 2015 %2015

Solve: 4032 = How much ? (Select two correct alternatives)

(1) 2017 x 2015 (2) 2

(3) 2017 x 2015 4) Ja

x o y (x varies directrly with y ) If x = 35, and y = 14, then find which of the following

is the equation of variation ?
(1) 2x =3y (2) 2y=5x
(3) 2x+5y=0 (4) 2y—-5x=0

The sides forming the right angle of a right angled triangle are 5 cm. and 12 ¢cm. Find
the radius of the circamcircle of the triangle.

(1) 6.5cm (2) 7.5 cm

(3) 8.5cm (4) 5.5cm

Total surface area of a cube is 384cm?. Find the volume of that cube.
(1) 512 cu.cm (2) 343 cu.cm

(3) 0.512 cum (4) 0.343 cu.m.

69. U -9x+TN+xX*+5x—-1)— (5x*—4x +5) = How much ? (Select two correct
alternatives.)
(H) 1 (2) ¥*+3x-2
(3) 2x>—-2x+5 (4) 2°
Space for Rough Work
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70. @ SSHSS'Y 41 Sood Rly(est $000)0 T8 13.5 0380w o, IS @ $568

71.

72.

GRPEFYONND HA00) D EOVIYE TEOEE HCHL ST 6 Ioen NHNR. wond @
SCHS WPFTHANQ $A0) PDod?

(1) 43 Hon 6 Joew (2) 34 50n 6 I
(3) 35%0n 6 Joew (4) 36 d0n 6 Iven

2 Soeraro |@ghwdn Bk ghadn 12 0.0, Kok, & Biorsn RwE) P8 Jod?

(1) 443 0.20. (2) V48 20.2.
(3) V3 20.2. (4) V108 20.2%0.

8o e8I Whecho PQRS ' & PQ||& SR 0. dhare Podw 88 ateandidd.
VoW @ JNVoW VIR PTPY0 DOE?

47 . Q\
2% —R
1 (PQ) = 47 .
I (SP) = 13 &.
I (MR) = 52 %.
1(SM) = 5 &.
(1) 624 <5.. (2) 524 <5.%%.
(3) 6.24 <5.%. (4) 5.24 5.5.
Space for Rough Work
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70.

In a class the average age of 41 students was 13.5 years. If the age of the class-teacher is
added to the total ages of the students, then the average age increases by 6 months. Find
the age of the class teacher.

(1) 43 years 6 months (2) 34 years 6 months
(3) 35 years 6 months (4) 36 years 6 months
71. Find the perpendicular height of an equilateral triangle whose side is 12 cm.
(1) 443 om. (2) /a8 om.
(3) 6+/3 cm. (4) /108 cm.
72. 1In the above trapezium PQRS side PQ 11 side SR. The measurements of the sides are
given in the figure. observe the figure and find the area of the trapezium.
47 m Q\
SS5m M 52 m R
[ (PQ)=47 m.
[(SP)=13 m.
I (MR) =52 m.
[(SM)=5m.
(1) 624 m? (2) 524 m?
(3) 6.24 m? (4) 524 m?
Space for Rough Work
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R 7300k TSP oS

TR0S 2011 5008 20155010 SEH $9 F0od Ho&odd @ o DO Fide w8
8ol &% ) DPrGHNS $rdwdod. TR HOBD0D 8ok BHWED K © ISrFTO
SBooE), DT GORHNORN D0 Fod0.

SIS W
Y-850 : 1 0.0, =10 8codred)
[ ] 510 wsyg
Y-axis Hom ¢8)8
100
%
% 80
g Zh Z
0. 60 Zw
2 50 — — —
A 4 |- - Z— Z“ B
2 0 [ - A o —
20 H ?— Z—— — | B
10 H Z— - i -
0 X-axi
2011 2012 2013 2014 2015 e
donen

73. o0 000 GEY Dod?
(1) 72 8gotrety (2) 75 8godrety (3) 77 Egoersty (4) 79 &goérey
74, Q DOHEYEINS' PG 0 HOR FEHe wE8 JrI0 OR N8O DEYD Kwi?

(1) 2012 (2) 2013 (3) 2014 (4) 2015
75. 2012 508 TEhnw w8 T 0 w88 §oB IJ) 8odrdd) K S Kow?
(1) 10 ) 15 3) 20 (4) 25
Space for Rough Work
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Q.73 to 75 Directions

The quantity of Jowar and Wheat produced by Ramrao from the year 2011 to 2015 is
shown below in the joint bar graph. Observe it and select the correct alternative to
answer the questions given below.

Measure :
Y-axis = 1 cm = 10 Quintals

I:I Jowar Production

Y-axis Wheat Production

100
90
80
70 — ;ﬁjwmwmwmww
60 =
50
40 —
30 —

:

Production (in Quintals)

10 |
0 > X-axis
2011 2012 2013 2014 2015

Year

N

73. What is the average production of Jowar ?

(1) 72 quintal (2) 75 quintal (3) 77 quintal (4) 79 quintal
74. Inwhich year was the yield of Jowar and wheat was equal and the highest ?
(1) 2012 (2) 2013 (3) 2014 (4) 2015
75. Inthe year 2012, how much less was the yield of wheat than jowar in quintals ?
(1) 10 (2) 15 (3) 20 (4) 25
Space for Rough Work
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